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1,300,000,000& X 14 1,300,000
O OHMHAIE Al B0t elAld SE(1SH) A Y
1,500,000,000& X 14 1,500,000
290 JIEtRr=2&E X = 320,000 0 320,000
299 J|EtXr=2&E X = 320,000 0 320,000
774 JIEt 2K = 320,000 0 320,000




20199 & 204t

S/ ¢ Ot&tAIGH= T ALA S E 3 H|
2 1200 XNEHXEs

g 1290 JIEtMEXEXE
HE: 299 JIEIRE= K& i )
S 774 JIEtNERXE £ A & A (e d
B.8-HE-2 o A o gggi&” HDS2
O Letg|H BEZ2(XotAIEZ2 HASH 4SHH AY)
320,000,000 X 14 320,000
800 0OilHlbl 22,408,000 15,750,600 6,657,400
801 olglbl 22,408,000 15,750,600 6,657,400
801 0ilBlbl 22,408,000 15,750,600 6,657,400
O olglbl
22,408,000,000& 22,408,000




20199 = 20l &t Ot&tAlOt = AIH EE

ton
X

4. X+ 2 2 & A =
EA 0001 GE=E=EZE 3 A

I (crsl : ma)

2 = guc oz  TEE NEE = 2(AB)
= o X 2 (A 34,542,434 26,604,948 7,937,486
HH 2l Hl 8,035,190 7,977,244 57,946
INE= =gl 7,784,190 7,727,244 56,946
JEtg g+ 251,000 250,000 1,000
A2l Hl 407,244 397,704 9,540
Ol Kk==< 300,000 300,000 0
Bl AL 2+ 105,744 91,704 14,040
JEtg g+ 1,500 6,000 24,500
AAE2LdH2+ Hl 1,000,000 3,175,000 AN2,175,000
ANEEEZS 1,000,000 1,000,000 0
EISIHAEE X2 4 0 2,175,000 N2,175,000
SEx3 Al 25,100,000 15,055,000 10,045,000
=NAHLHS 25,000,000 15,000,000 10,000,000
0l=2 100,000 55,000 45,000




20199 = 20l &t Ot&tAlOt = AIH EE

o
=

OXNZEX 2 (crsl : ma)
2 = guc oz  TEE NEE = 2(AB)

A = 2 (B") 7,632,393 3,984,687 3,647,706

pe:Realul =4 Hl 3,930,393 1,475,287 2,455,106

24 H| 1,530,393 1,475,287 55,106

X el &bl 2,400,000 0 2,400,000

S8z=4 Hl 10,000 30,000 20,000

HMI|Ed+F 10,000 30,000 A20,000

SENLFS Hl 572,000 304,400 267,600

252 559,000 300,000 259,000

SJ|78I& 13,000 4,400 8,600

HIOIS&EH|I A HS Hl 2,800,000 2,175,000 625,000

AESOIXL 2,800,000 2,175,000 625,000

IJIEt A2 &K & Hl 320,000 0 320,000

JIEtRI2E X 320,000 0 320,000

Xt (A'-B" 26,910,041 22,620,261 4,289,780

= AENS ML A=

1. OlHIHl 26,910,041

(At

Ol & GlEIHI 4,502,041 & &, X204 0lHIHI 22,408,000& ).




